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GENETICS AND EVOLUTION

Exercise

1. The study of heredity and variation of

organisms is called

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_H5J5bDsUEGno


A. morpholgoy

B. cytology

C. genetics

D. evolution

Answer:

Watch Video Solution

2. Who is the called the father of genetics.

A. Darwin

https://dl.doubtnut.com/l/_H5J5bDsUEGno
https://dl.doubtnut.com/l/_1CRxSXfQo6OY


B. Mendel

C. Morgan

D. De vries

Answer:

Watch Video Solution

3. The experimental plant material used by

Mendel was :

A. Garden Pea

https://dl.doubtnut.com/l/_1CRxSXfQo6OY
https://dl.doubtnut.com/l/_bpkd2iDj3OHG


B. Chick Pea

C. Sweet Pea

D. Coco Pea

Answer:

Watch Video Solution

4. What is the genotypic ratio in  OF

Mendelian monohybrid cross?

A. 

F2

3: 1

https://dl.doubtnut.com/l/_bpkd2iDj3OHG
https://dl.doubtnut.com/l/_idOImkBTPoVS


B. 

C. 

D. 

Answer:

Watch Video Solution

1: 1

2: 1

1: 2: 1

5. The offsprings in the first generation is

called

A. F2

https://dl.doubtnut.com/l/_idOImkBTPoVS
https://dl.doubtnut.com/l/_DQiYuDYNQFnb


B. 

C. 

D. 

Answer:

Watch Video Solution

F0

P1

F1

6. Which is the character not taken by Mendel

in his experiments?

A. Height of the plant

https://dl.doubtnut.com/l/_DQiYuDYNQFnb
https://dl.doubtnut.com/l/_IxzwDI1bNUKb


B. Shape of the leaves

C. Seed colour

D. Seed shape

Answer:

Watch Video Solution

7. A cross between hybrid with a double

recessive pure plant is called _____

A. Test cross

https://dl.doubtnut.com/l/_IxzwDI1bNUKb
https://dl.doubtnut.com/l/_k7Jju2Fy7Z9K


B. Self cross

C. dihybrid cross

D. Polyhybrid cross

Answer:

Watch Video Solution

8. How many types of genotypes will be there

F2 generation of monohybird cross?

A. 4

https://dl.doubtnut.com/l/_k7Jju2Fy7Z9K
https://dl.doubtnut.com/l/_FzjDRp0hl4wC


B. 3

C. 2

D. 1

Answer:

Watch Video Solution

9. In which case is the half of the offsprings

recessive type?

A. T t ×

https://dl.doubtnut.com/l/_FzjDRp0hl4wC
https://dl.doubtnut.com/l/_ubNZ06s3JPis


B. 

C. 

D. 

Answer:

Watch Video Solution

⊤ × ⊤

⊤ ×

×

10. Which is an incorrect statement?

A. An allele in altelrnate forms gene

https://dl.doubtnut.com/l/_ubNZ06s3JPis
https://dl.doubtnut.com/l/_mQ3lIsfahLle


B. An allele is alternate forms of one

characters.

C. Genes located in the same locus of two

sister chromosomes are alleles.

D. Both alleles are transferred from one

parent to its offspring.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_mQ3lIsfahLle


11.  plants inmonohybrid cross are

A. heterozygous

B. homozygous

C. hemizygous

D. heterologous

Answer:

Watch Video Solution

F1

https://dl.doubtnut.com/l/_E4VhRNOIKEwY


12. In Mirabilis jalapa, when red flowered

plants are crossed with white flowered ones,

the offsprings were pink. It is the case of

A. Complete dominance

B. Incomplete

C. Segregation

D. Codominace.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_c5uQ0zBUzOj7


13. In dihybrid cross of round yellow and

wrinkled green seeds of Pea plants. What is

the ratio of round to wrinkled in 

generation?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

F2

3: 1

1: 2: 1

9: 3: 3: 1

1: 1

https://dl.doubtnut.com/l/_OjkDpu9Abzpa


14. Which one does represent a pair of

contrasting characters?

A. homozygous

B. phenotypes

C. co-dominance

D. heterozygous

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OjkDpu9Abzpa
https://dl.doubtnut.com/l/_JXmWWwkb0zBM


15. A character which does not express itself is

called

A. dominant

B. co-dominant

C. Incomplete dominant from  hybrid

D. recessive

Answer:

Watch Video Solution

F1

https://dl.doubtnut.com/l/_JXmWWwkb0zBM
https://dl.doubtnut.com/l/_Kz9AdTMTtF6I


16. How many type of gametes may be formed

form  hybrid where two pairs of contrasting

characters are taken in the dihybrid corss

experiment?

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

F1

https://dl.doubtnut.com/l/_fn08bON2JZV6


17. A plant with Rr genotype is crossed with a

plant with rr genotype, the ratio of Rr and rr

genotypes will be_____in the next progeny.

A. 

B. 

C. 

D. 

Answer:

1: 1

3: 1

9: 3: 3: 1

1: 1: 1: 1

https://dl.doubtnut.com/l/_fn08bON2JZV6
https://dl.doubtnut.com/l/_mBclmChd0yxV


Watch Video Solution

18. In co-dominance of the human blood

group, which one is a recessive gene?

A. A

B. B

C. O

D. AB

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_mBclmChd0yxV
https://dl.doubtnut.com/l/_dmNwQenBGkmE


19. A gene controlling more than one

character is called

A. dominant

B. recessive

C. co-dominance

D. pleiotropy

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_dmNwQenBGkmE
https://dl.doubtnut.com/l/_4PMo4PlqV8OZ


20. Distinguish between:Incomplete

dominance and co-dominance

A. gene pair is hetrozygous

B. None of the genes are dominant

C. None of the genes are recessive

D. Quantitative expresion occurs.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_XoxU8LA5vy5Q
https://dl.doubtnut.com/l/_hJglnw7Yv1Af


21. A cross between two pure forms of black

feathered and white feathered fowl resutled in

 hybrid with blue featherd one. Under which

type can this be placed?

A. Co-dominace

B. Incomplete dominance

C. law of dominance

D. law of segregation

Answer:

Watch Video Solution

F1

https://dl.doubtnut.com/l/_hJglnw7Yv1Af


22. Which one is an exception to mendelism

A. independent assortment

B. dominance

C. Segregation

D. linkage

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_hJglnw7Yv1Af
https://dl.doubtnut.com/l/_p6Pe75yrgmJw


23. Which one was proposed by mendel from

dihybrid cross?

A. law of segregation

B. law of independent assortment

C. law of incomplete dominance

D. law of domiances

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_y13IUBt9JfoI
https://dl.doubtnut.com/l/_GVO1jLJAv7yE


24. Which type of blood group is called

universal donor?

A. O

B. A

C. AB

D. B

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_GVO1jLJAv7yE


25. Which of the following is not applicable to

the phenomenon of adsorption?

A. Single gene effect visible

B. discontinuous variation

C. kind of character

D. degree of character

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MgJiSxOQzBLL
https://dl.doubtnut.com/l/_UJeflXrxXuj6


26. An organism with two identical

characteristics is known as

A. dominant

B. hybrid

C. homozygous

D. hetero zygous

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_UJeflXrxXuj6


27.  coined the term 'gene' for

Mendelian factor

A. Correns

B. Johannsen

C. Bovery

D. Morgan

Answer:

Watch Video Solution

Griffith
––––––––

https://dl.doubtnut.com/l/_IovDaFQWrOAe
https://dl.doubtnut.com/l/_mGnWA7rWJS2a


28. Which one is the basis of origin of

continuous variation?

A. Multipe gene

B. co-dominant genes

C. Pleitorpy

D. dominant gene

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_mGnWA7rWJS2a


29. Which one does show quantitatve

inheritance?

A. Law of dominances

B. Incomplete dominance

C. Independent assortment

D. Polygenic inheritance.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_I2E2BAR9UIJ8
https://dl.doubtnut.com/l/_4Kqf1hxuqeSE


30. Which one does not show linkage?

A. genes coupled

B. genes that assort independently

C. genes not present in same chromosome

D. Traits present on separate homolgous

seats.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_4Kqf1hxuqeSE


31. Which one does not occur due to crossing

due?

A. Chromosome undergo pairing

B. One gamete formed having normal

parental chromosome

C. Both the gametes have normal parental

chromosome

D. Other gamets recombine

Answer:

https://dl.doubtnut.com/l/_UgA0n90zwUIc


Watch Video Solution

32. The degre of differencees among the

offsprings and between the offsprings and

parents is known as

A. Genetics

B. Heredity

C. Variation

D. None of the above

Answer:

https://dl.doubtnut.com/l/_UgA0n90zwUIc
https://dl.doubtnut.com/l/_EW90bBGML8ke


Watch Video Solution

33. Mendel choose 'Pisum sativum as material

for his classical experiment.

A. As the plant is annual and short life cycle

helps to study several generation.

B. Sharply visible seven paris of contrasting

characters are found.

C. Flowers are bisexual and self pollinated

D. None of the above

https://dl.doubtnut.com/l/_EW90bBGML8ke
https://dl.doubtnut.com/l/_TpzF1ZeZvLY0


Answer:

Watch Video Solution

34. Correct the statements if required, by

changing the underlined portions only 

The science of heredity and evolution is called

genetics.

Watch Video Solution

https://dl.doubtnut.com/l/_TpzF1ZeZvLY0
https://dl.doubtnut.com/l/_ds5oqg7pk1Ez


35. Correct the statements if required, by

changing the underlined protions only 

The external manifestation of a transmitted

character is called genotype.

Watch Video Solution

36. Correct the statements if required, by

changing the underlined protions only 

Mendel did monohybrid cross experiments

with two paris of contrasting characters.

https://dl.doubtnut.com/l/_EG9vuwB2iZbd
https://dl.doubtnut.com/l/_5QpHW7hji2Hq


Watch Video Solution

37. Correct the statements if required, by

changing the underlined protions only 

Linnaeus is called the father of genetics.

Watch Video Solution

38. Correct the statements if required, by

changing the underlined protions only 

Mendel chose 5 pairs of contrasting

characters in his experiments.

https://dl.doubtnut.com/l/_5QpHW7hji2Hq
https://dl.doubtnut.com/l/_O6cl9fUsWkHK
https://dl.doubtnut.com/l/_ZM0nmUw57uHT


Watch Video Solution

39. Correct the statements if required, by

changing the underlined protions only 

Mendel's law of segregation is based on

transmission characters  generation.

Watch Video Solution

F1

40. Correct the statements if required, by

changing the underlined protions only 

https://dl.doubtnut.com/l/_ZM0nmUw57uHT
https://dl.doubtnut.com/l/_lIcvYvDQtlSR
https://dl.doubtnut.com/l/_CGPMOjfGZ6kS


In Mendel's monohyrbrid cross, 2 genotypes

were observed in  generation.

Watch Video Solution

F2

41. Correct the statements if required, by

changing the underlined protions only 

Transmission of characters from parents to

offsprings is called variation.

Watch Video Solution

https://dl.doubtnut.com/l/_CGPMOjfGZ6kS
https://dl.doubtnut.com/l/_S3AJls2sKPo2


42. Correct the statements if required, by

changing the underlined portions only 

Mendel's experimental material was wheat

plants.

Watch Video Solution

43. Correct the statements 

The allele that expresses itself only when it is

in homozygous condition is called dominant.

Watch Video Solution

https://dl.doubtnut.com/l/_LhE7OjWSsPXn
https://dl.doubtnut.com/l/_I4CEEGkitQZd


44. Correct the statements if required, by

changing the underlined protions only 

Allelomorphs or alleles indicate identical

charactes.

Watch Video Solution

45. Correct the statements if required, by

changing the underlined protions only 

Offsprings produced by two parents with one

pair of contrasting character is called cybrid.

https://dl.doubtnut.com/l/_I4CEEGkitQZd
https://dl.doubtnut.com/l/_cg5KWzRPPBOw
https://dl.doubtnut.com/l/_5OBIDSUPM72s


Watch Video Solution

46. Correct the statements if required, by

changing the underlined protions only 

Back cross is done to know the genotype of

the dominant phenotype.

Watch Video Solution

47. Correct the statements if required, by

changing the underlined protions only 

https://dl.doubtnut.com/l/_5OBIDSUPM72s
https://dl.doubtnut.com/l/_D5FeFefCrBJs
https://dl.doubtnut.com/l/_773fP9Id5Ve7


Back cross is done betweeen  hybrid and

any one of the homozygous offsprings.

Watch Video Solution

F1

48. Correct the statements if required, by

changing the underlined protions only 

There will be 3 types of phenotypes in dihybrid

cross.

Watch Video Solution

https://dl.doubtnut.com/l/_773fP9Id5Ve7
https://dl.doubtnut.com/l/_ZqyBQcDvwzi9


49. Correct the statements if required, by

changing the underlined protions only 

Purple flowers from a cross between red and

white flowered plants is called paternal

dominance.

Watch Video Solution

50. Correct the statements if required, by

changing the underlined protions only 

https://dl.doubtnut.com/l/_7nQPz9RZ2bki
https://dl.doubtnut.com/l/_RjJZPoXoLjHI


To express co-dominance, both the characters

of a gene pair is homozygous.

Watch Video Solution

51. Correct the statements if required, by

changing the underlined protions only 

The mutation which eliminates a gene is called

silent mutation.

Watch Video Solution

https://dl.doubtnut.com/l/_RjJZPoXoLjHI
https://dl.doubtnut.com/l/_V13iyOz749ro


52. Correct the statements if required, by

changing the underlined portions only 

In AB blood type both factors are co-dominant.

Watch Video Solution

53. Correct the statements if required, by

changing the underlined protions only 

For quantitative evaluation, principle of

incomplete irheritance is an example.

Watch Video Solution

https://dl.doubtnut.com/l/_mCs0hGUMTGxo
https://dl.doubtnut.com/l/_8OfiiHKQ8WlK


54. Correct the statements if required, by

changing the underlined protions only 

When one gene express more than one

phenotypic trait, it shows polygenic

inheritance.

Watch Video Solution

55. Correct the statements if required, by

changing the underlined portions only 

https://dl.doubtnut.com/l/_8OfiiHKQ8WlK
https://dl.doubtnut.com/l/_Lzb2GyQIQHGq
https://dl.doubtnut.com/l/_k2zxFr8SbDvo


Phenylketonuria is caused by deficiency of

phenyl alanine oxidase.

Watch Video Solution

56. Correct the statements if required, by

changing the underlined protions only 

Sutton and Boveria proposed genetic basis of

inheritance.

Watch Video Solution

https://dl.doubtnut.com/l/_k2zxFr8SbDvo
https://dl.doubtnut.com/l/_8g71uFbTqU6U


57. Correct the statements if required, by

changing the underlined protions only 

Correns discovered genes in 1909.

Watch Video Solution

58. Correct the statements if required, by

changing the underlined protions only 

Crossing over takes place during mitosis.

Watch Video Solution

https://dl.doubtnut.com/l/_OufhC1f8MsUj
https://dl.doubtnut.com/l/_XdR7jF6wwDji
https://dl.doubtnut.com/l/_KdFymvISuDgl


59. Correct the statements if required, by

changing the underlined protions only 

Crossing over takes place between daughter

chromosomes during meiosis.

Watch Video Solution

60. Correct the statements if required, by

changing the underlined protions only 

Genetype is observable characters of an

individual.

Watch Video Solution

https://dl.doubtnut.com/l/_KdFymvISuDgl
https://dl.doubtnut.com/l/_kYDEE8kxJdv5


61. Answer the following question in one word

only. 

Transmission of characters from parents to

offsprings is called

Watch Video Solution

62. Answer the following question in one word

only. 

The genetic make up of an organisms.

https://dl.doubtnut.com/l/_kYDEE8kxJdv5
https://dl.doubtnut.com/l/_zxDp0eu3AjBU
https://dl.doubtnut.com/l/_B5j5uDJiTm8p


Watch Video Solution

63. Answer the following question in one word

only. 

The morophological expression of genetic

makeup of an organism.

Watch Video Solution

64. Answer the following question in one word

only. 

https://dl.doubtnut.com/l/_B5j5uDJiTm8p
https://dl.doubtnut.com/l/_wTGvG2iBIFTV
https://dl.doubtnut.com/l/_an742PI3mw1f


What is called to the condition in an organism

with homologous chromosomes?

Watch Video Solution

65. Answer the following question in one word

only. 

What is the unit of inheritance?

Watch Video Solution

https://dl.doubtnut.com/l/_an742PI3mw1f
https://dl.doubtnut.com/l/_cktzVhUKNjNz


66. Answer the following question in one word

only. 

Who did experiments on pea plants to

propose first the laws of ineheritance?

Watch Video Solution

67. Answer the following question in one word

only. 

On which plant did Mendel perform

experiments?

https://dl.doubtnut.com/l/_aWpdSHyHpcE4
https://dl.doubtnut.com/l/_DsBaG71kiEjq


Watch Video Solution

68. Answer the following question in one word

only. 

What is called to alternate forms of the same

character?

Watch Video Solution

69. Give one word answer:

How many pairs of contrasting characters in

https://dl.doubtnut.com/l/_DsBaG71kiEjq
https://dl.doubtnut.com/l/_sChMLQ520c06
https://dl.doubtnut.com/l/_RnM1SIcuG9Yl


pea plants were studied by Mendal in his

experiments?

Watch Video Solution

70. Answer the following question in one word

only. 

What is called to the condition where an

organism has different alleles on homologous

loci of chromosome.

Watch Video Solution

https://dl.doubtnut.com/l/_RnM1SIcuG9Yl
https://dl.doubtnut.com/l/_tTHHHthmxqZi
https://dl.doubtnut.com/l/_gWyzmdenileA


71. Answer the following question in one word

only. 

What is called when  pollens are pollinated

in the stigma of the same flower?

Watch Video Solution

F1

72. Answer the following question in one word

only. 

What is called to the cross with single pair of

contrasting characters?

Watch Video Solution

https://dl.doubtnut.com/l/_gWyzmdenileA
https://dl.doubtnut.com/l/_nII73aw7oQh2


73. Answer the following question in one word

only. 

A gene that expresses itself is called.

Watch Video Solution

74. Answer the following question in one word

only. 

A gene that remains eclipsed but expresses

when dominant gene is not there is called.

https://dl.doubtnut.com/l/_nII73aw7oQh2
https://dl.doubtnut.com/l/_cCSsSjyxZZcl
https://dl.doubtnut.com/l/_jNe1tiMtK3To


Watch Video Solution

75. Answer the following question in one word

only. 

A cross between  bybrid and either of the

homozygous parents.

Watch Video Solution

F1

76. Answer the following question in one word

only. 

A dominant phenotype with unknown

https://dl.doubtnut.com/l/_jNe1tiMtK3To
https://dl.doubtnut.com/l/_pWG7woVZbI87
https://dl.doubtnut.com/l/_HQIxnd6D8y5I


genotype when crossed with a recessive

individual, the cross is called

Watch Video Solution

77. Answer the following question in one word

only. 

What type of dominance is seen in pink

flowers of mirabilis jalapa?

Watch Video Solution

https://dl.doubtnut.com/l/_HQIxnd6D8y5I
https://dl.doubtnut.com/l/_rm4WpWoqQgpe


78. Answer the following question in one word

only. 

How many types of genotypic expression is

seen in  generation oif dihybrid cross?

Watch Video Solution

F2

79. Answer the following question in one word

only. 

How many types of phenotypic expression will

be found in  generation of dihybrid cross?F2

https://dl.doubtnut.com/l/_UI5jiRAYAMYI
https://dl.doubtnut.com/l/_42gWH648VCFB


Watch Video Solution

80. Answer the following question in one word

only. 

When in a reciprocal cross both the alleles are

more or less equally expressed.

Watch Video Solution

81. Answer the following question in one word

only. 

https://dl.doubtnut.com/l/_42gWH648VCFB
https://dl.doubtnut.com/l/_H1HNAFgExhdx
https://dl.doubtnut.com/l/_cvKqpzRJuG2E


What is the type of allelism where more than

two alleles are present in the same locus?

Watch Video Solution

82. Answer the following question in one word

only. 

The condition where single gene does control

more than one phenotypic traits?

Watch Video Solution

https://dl.doubtnut.com/l/_cvKqpzRJuG2E
https://dl.doubtnut.com/l/_zUYyQ1Ofe6jH


83. Answer the following question in one word

only. 

The inheritance of genes which can be

measured.

Watch Video Solution

84. Answer the following question in one word

only. 

Inheritance which can only be observed.

Watch Video Solution

https://dl.doubtnut.com/l/_fV4u0cPUcCWt
https://dl.doubtnut.com/l/_oGkA3fn27Irh


85. Answer the following question in one word

only. 

Which one is called the bearer of hereditary

material.

Watch Video Solution

86. Answer the following question in one word

only. 

Inheritance of characters together from

parents to offsprings.

https://dl.doubtnut.com/l/_oGkA3fn27Irh
https://dl.doubtnut.com/l/_P4Hdbk3YFpgI
https://dl.doubtnut.com/l/_m5xXywEUhaUX


Watch Video Solution

87. Answer the following question in one word

only. 

What is the modern term for Mendelian

factor?

Watch Video Solution

88. Answer the following question in one word

only. 

https://dl.doubtnut.com/l/_m5xXywEUhaUX
https://dl.doubtnut.com/l/_rwn6AwkcYzGZ
https://dl.doubtnut.com/l/_iYfKLmEednFQ


Exchange of chromosomal segments during

meiosis.

Watch Video Solution

89. Answer the following question in one word

only. 

Who coined the word gene?

Watch Video Solution

https://dl.doubtnut.com/l/_iYfKLmEednFQ
https://dl.doubtnut.com/l/_nxLu1NcVGpJ1


90. Answer the following question in one word

only. 

 generation is also known as?

Watch Video Solution

F2

91. Answer the following question in one word

only. 

The cross where two pairs of alternative

characters are taken into consideration.

Watch Video Solution

https://dl.doubtnut.com/l/_ZAx3UBS74zs2
https://dl.doubtnut.com/l/_QhUQ0cohB3aO


92. Fill in the blanks:

The science of heredity and variation is called

…………..

Watch Video Solution

93. A pair of contrasting characteristics is

called :

Watch Video Solution

https://dl.doubtnut.com/l/_QhUQ0cohB3aO
https://dl.doubtnut.com/l/_CngsV7QLdG8B
https://dl.doubtnut.com/l/_ug06ZUIXdj24
https://dl.doubtnut.com/l/_pZiQN58zOQCe


94. Fill in the blanks:- 

P is represented as __________ generation.

Watch Video Solution

95. Fill in the blanks:- 

F is represented as ________ generation.

Watch Video Solution

96. Fill in the blanks:- 

When experiments are done with single pair of

https://dl.doubtnut.com/l/_pZiQN58zOQCe
https://dl.doubtnut.com/l/_IgeOcZubLQe1
https://dl.doubtnut.com/l/_9fz8vzn6Tyu9


characters, it is called _______ cross.

Watch Video Solution

97. Fill in the blanks:- 

Pure breeding tall plant contains two similar

factors for a character and are called__________.

Watch Video Solution

98. Fill in the blanks:- 

The morphological expression of a character is

https://dl.doubtnut.com/l/_9fz8vzn6Tyu9
https://dl.doubtnut.com/l/_3RupRG7Ej9ZH
https://dl.doubtnut.com/l/_ElIYH9KBc4l3


called________.

Watch Video Solution

99. Fill in the blanks:- 

The morphological expression of a character is

called________.

Watch Video Solution

100. Fill in the blanks:- 

The internal factors responsible for

https://dl.doubtnut.com/l/_ElIYH9KBc4l3
https://dl.doubtnut.com/l/_zUTg6RRUVBa8
https://dl.doubtnut.com/l/_hfkzY6Lc0e6W


morphological expression is called _________.

Watch Video Solution

101. Fill in the blanks:- 

Mendelian factors which determine the

character of diploid organism is called_______.

Watch Video Solution

102. Fill in the blanks:- 

Mendelian factors segregate in ___________

https://dl.doubtnut.com/l/_hfkzY6Lc0e6W
https://dl.doubtnut.com/l/_bVT0rsude1xA
https://dl.doubtnut.com/l/_bBlplsU56VGo


generation.

Watch Video Solution

103. Fill in the blanks:- 

The cross between  hybrid and double

recessive parent is called_______ cross.

Watch Video Solution

F1

104. Fill in the blanks:- 

Allele that express in both homozygous and

https://dl.doubtnut.com/l/_bBlplsU56VGo
https://dl.doubtnut.com/l/_ocKXIeNQYP8j
https://dl.doubtnut.com/l/_shbkIHXUhY1q


hetrozygous conditions is an __________ allele.

Watch Video Solution

105. Fill in the blanks:- 

Incomplete dominance is a process, where

there is absence of dominance in _________

condition.

Watch Video Solution

https://dl.doubtnut.com/l/_shbkIHXUhY1q
https://dl.doubtnut.com/l/_9CozUeIcmJG8


106. Fill in the blanks:- 

ABO blood group is an example of __________.

Watch Video Solution

107. Fill in the blanks:- 

In ABO blood group, ____________ group is

universal donor.

Watch Video Solution

https://dl.doubtnut.com/l/_Qmhx1xdokdcW
https://dl.doubtnut.com/l/_w5nwVBfA6tzx


108. Fill in the blanks:- 

In a population, _________ alleles are seen.

Watch Video Solution

109. Fill in the blanks:- 

When a gene takes part to determine more

than one character, then, it is called_________.

Watch Video Solution

https://dl.doubtnut.com/l/_k4K1U9iulJzO
https://dl.doubtnut.com/l/_nD8Wjv3XLo7V


110. Fill in the blanks:- 

When a number of genes take part in a

phenotypic variability, it is called _______

inheritance.

Watch Video Solution

111. Fill in the blanks:- 

Chromosomal basis of inheritance was

proposed by Sutton and __________.

Watch Video Solution

https://dl.doubtnut.com/l/_9JqJXoRoyssu
https://dl.doubtnut.com/l/_5L40lnigBTBv


112. Fill in the blanks:- 

Chromosomes are the bearers of hereditary

units called __________.

Watch Video Solution

113. Fill in the blanks:- 

Mendelian factors are called__________.

Watch Video Solution

https://dl.doubtnut.com/l/_5L40lnigBTBv
https://dl.doubtnut.com/l/_tkY0Dh8miL72
https://dl.doubtnut.com/l/_5NuzRLLBpjx0
https://dl.doubtnut.com/l/_XnWEu6ji5siC


114. Fill in the blanks:- 

In dihyrbrid cross, phenotypic ratio in 

generation is __________.

Watch Video Solution

F2

115. Answer the following questions briefly two

to three sentences each. 

Monohybrid Cross.

Watch Video Solution

https://dl.doubtnut.com/l/_XnWEu6ji5siC
https://dl.doubtnut.com/l/_8n4uvlp8hbyU


116. Answer the following questions briefly two

to three sentences each. 

Principle of dominace.

Watch Video Solution

117. Answer the following question briefly two

to three sentences. 

Principle of Segregation

Watch Video Solution

https://dl.doubtnut.com/l/_5Ly2SqMabfbN
https://dl.doubtnut.com/l/_Gt6aWJRUPl7J
https://dl.doubtnut.com/l/_w8dX9HTHtxe3


118. Answer the following question briefly two

to three sentences. 

Dihybrid cross

Watch Video Solution

119. Answer the following question briefly two

to three sentences. 

Back cross.

Watch Video Solution

https://dl.doubtnut.com/l/_w8dX9HTHtxe3
https://dl.doubtnut.com/l/_3JzzDxxu6aDO
https://dl.doubtnut.com/l/_3Zn0IuiOEAq7


120. Answer the following questions briefly

two to three sentences each. 

Test cross.

Watch Video Solution

121. Answer the following questions briefly two

to three sentences each. 

Incomplete dominace.

Watch Video Solution

https://dl.doubtnut.com/l/_3Zn0IuiOEAq7
https://dl.doubtnut.com/l/_buYx1EdAYOvW


122. Answer the following questions briefly two

to three sentences each. 

Co-dominace.

Watch Video Solution

123. Answer the following questions briefly two

to three sentences each. 

Multiple allelism.

Watch Video Solution

https://dl.doubtnut.com/l/_zf9ahU2N6zHc
https://dl.doubtnut.com/l/_8RXCaja4W4LU
https://dl.doubtnut.com/l/_q4DbHs8P4NFK


124. Answer the following question briefly two

to three sentences. 

Pleiotropy.

Watch Video Solution

125. Answer the following questions briefly two

to three sentences each. 

Polygenic inheritance.

Watch Video Solution

https://dl.doubtnut.com/l/_q4DbHs8P4NFK
https://dl.doubtnut.com/l/_nHTUW7eG2zep
https://dl.doubtnut.com/l/_oCgtlZEwCUco


126. Answer the following questions briefly two

to three sentences each. 

Linkage.

Watch Video Solution

127. Answer the following questions briefly two

to three sentences each. 

Crossing over.

Watch Video Solution

https://dl.doubtnut.com/l/_oCgtlZEwCUco
https://dl.doubtnut.com/l/_8fC9Ww1R5Sb3


128. Differentiate between : 

Back cross and Test cross

Watch Video Solution

129. Distinguish between:Incomplete

dominance and co-dominance

Watch Video Solution

https://dl.doubtnut.com/l/_iKBFHLnFIrUj
https://dl.doubtnut.com/l/_7zGz6w4q3HEZ


130. Differentiate between: Phenotype and

genotype

Watch Video Solution

131. Differentiate between : 

Linkage and Crossing Over

Watch Video Solution

https://dl.doubtnut.com/l/_5Q3Aw46XNBDh
https://dl.doubtnut.com/l/_vlOYclzdN35P


132. Differentiate between : 

Qualitative Inheritance & Quantitative

inheritance.

Watch Video Solution

133. Distinguish between:Homozygous and

heterozygous

Watch Video Solution

https://dl.doubtnut.com/l/_pfaSEGSuU51a
https://dl.doubtnut.com/l/_kdXtBBUSNs3g


134. Differentiate between : 

Diagram of Split gene.

Watch Video Solution

135. Describe Mendel's monohybrid cross

experiments and state the laws of inheritance?

Watch Video Solution

https://dl.doubtnut.com/l/_6uo3FcEeLXnP
https://dl.doubtnut.com/l/_2O2Gr8JZNssg


136. Discuss Mendel's dihybrid cross with

checker board.

Watch Video Solution

https://dl.doubtnut.com/l/_Hyxah8gWVY2y

